
Exercice 3 

Mistral Gagnant ‐ Renaud 

Arpège Main droite :   1 ‐ P i m a m i    1/2 – P i m 

Code Main gauche :    

Index   Majeur   Annulaire   Auriculaire 

La m  La m  La m  La m  Ré m     

1  1  1  1/2  1     

Sol  Sol  Sol  Sol  Do     

1  1  1  1/2  1     

La m  La m  La m  La m  Ré m     

1  1  1  1/2  1     

Sol  Sol  Sol  Sol  Do     

1  1  1  1/2  1     

Fa  Fa  Mi  La m       

1  1  1  1       

Fa  Fa  Mi  La m  Sol  Fa  Fa 

1  1  1  1  1  1  1 

P  m  a i  P  m  a i  P  m  a i  P  m  a i 

P  m  a i 

La m  Ré m  Sol  Fa 

Mi 

P  m  a i 

Do 


